MIAM -DADE MIAMI-DADE COUNTY, FLORIDA
[ METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Aluminum World, Inc.
1767 W. 37" Street, Unit #18
Hialeah, Florida 33012

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHYJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: “Storm Guard” 0.0384” (min.) Galvanized Steel Storm Panels Shutter

APPROVAL DOCUMENT: Drawing No. 02-575, titled “ 20 Gage Storm Panel — Storm Guard ”, sheets 1
through 7 of 7, prepared by Tilteco, Inc., dated December 11, 2002, last revision #1 dated December 11, 2002
bearing the Miami-Dade County Product Control Revision stamp with the Notice of Acceptance number and
expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each panel shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 01-1029.02 and consists of this page 1 as well as approval document mentioned above.
The submitted documentation was reviewed by Helmy A. Makar, P.E.

NOA No 03-0206.06
Expiration Date: 07/09/2006
Approval Date: 04/03/2003
Page 1




RS-

4.820°

-—{.180° ]

2.000"

4.820°

[-——2.000'——]

R.

'@ _“U”_HEADER

1/4° # S. 5. STUD
RIVETED TO ANGLE
O SPACINGS SHOWN
ON’ SECTIONS.

12.000" (EFFECTIVE WIDTH)

15.500" (TOTAL WIDTH)

t=0,0384" (MIN)
GALVANIZED STEEL

f 1. IBO"—-]

L

L———]_Soo'—-—..

(D PANEL

CONCRETE ANCHORS (SEE SCHEDULE):

[y

- ax:
1° Min.

A\

£Q

Q N\ N\ o o o
TTO T ANT AT T 19T 71T 7
& , T
A ’\ A A
Av \ ‘V Av
1 \\ L4 v
T TTTT e TR
\[[ 3o 2, NN
Ny’ ON APPLICABLE SECTIONS
(SHEET 2 & 3 OF 7) \\J\
A A l\ Z. A
14 v v
AV ‘V X’\ ‘V
I 'C'—«—m-——““_-O_'-—-m”-»_”G ‘—————'9'

I—J' !

A

CONCRETE ANCHORS (SEE SCHEDULE)
Maox., Max.
i3 123
STORM PANEL TYPICAL ELEVATION CORPORATE SEAL * 20 GAGE STORM PANEL-"STORM GUARD SCALE
SEE SHEET 3 OF 7 FOR REINFORCING DETALS W/ (3) . 12/11/02
- 250" Max. GAP 250" Max. GAP —— — ALUMINUM WORLD, INC. CATE
\SANSSN IL E c O INc.
L7~ N / ; 1767 W. 37th STREET UNIT 18
‘ /1 m * ATIN. BLOG. OFFICIALS DO Tt TﬁT'gG X zfg‘c\tgcfffm COMPANY HIALEAH, FLORIDA 33012 02-575
. N.W. 3J8th. St., . '\ . F1, 18
Q S / : Nor :ESAEI-I’I’VZATIH gogfsw% o Phone : (305)57:;;53%0'6':7":9: (305)%571_15;1 REY. HO DESCRIFTION DATE ] AEV. Na DESCRFTION DATE DRAWING No
SECTION A-A / “%/we/’? A RAISED CORPORATE SEAL WALTER A TILLIT Jr., 2. £, : qooiza | pam/ed 3 - Z—f SHEET 1 OF 7
Lic, 441 2 = - 7 - -

I-.J?S - .-]

083

|

438"
875" »

]

l

-
_] L — .1875"

et , 125¢

DETAIL 1: stup w/ wiNG NUT

J74"
B Y”ﬂ-

-I I——.rz.s‘

1.671 "

I
B
- l
.093"

.656°

[

3.500°

16 GAGE~=i}=——

[—I.ODO'-I

@ n!~ '[EQQE?

L0

@ .SIEEL TUBE
_REINFORCEMENT

ASTM A-525 W/
FY =

33 ksl

125"

-
,—T

6063--T5 Alum. ALLOY

COMPONENTS

6 “F" IRACK (@) 2"x5" (Max.)x0.125" ANGLE

GENERAL NCTES:
1. STORM PANEL SHOWN ON THIS PRODUCT APPROVAL DOCUMENT HAS BEEN DESIGNED IN ACCORDANCE WITH THE 2001

EDITION OF THE FLORIDA BUILDING CODE.
DESIGN WIND LOADS SHALL BE OETERMINED AS PER SECTION 1619 OF THE ABOVE MENTIONED CODE, FOR A BASIC WIND SFPEED

OF 146 m.p.h.,, AND IN ACCORDANCE W/ ASCE 7-98 STANDARD.
STORM PANEL'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH SECTION 1808.1.4
OF THE ABOVE MENTIONED CODE AS PER HET! REPORT § HETI-39-831 AS PER PA-201, PA-202 & PA—203 STANDARD.

2. ALL STEEL SHEET METAL PANELS SHALL HAVE STRUCTURAL QUALITY ASTM AG5J, GRADE 50, GALVANIZED STEEL
DESIGNATION W/Fy=56.6 ksl (AFTER ROLLED).

J AL ALUMINUM EXTRUSIONS SHALL BE S083--T8 ALLOY UNLESS OTHERWISE NOTED.

4. ALL SCREWS TO Bf STAINLESS STEEL 304 OR 318 SERIES W/50 ksl YIELD POINT AND 90 ksi TENSILE STRENGTH OR
CORROSION RESISTANT COATED CARBON STEEL AS PER DIN 50018.

5. BOLTS TO BE 2024—T4 ALUMINUM ALLOY, GALVANIZED OR STAINLESS STEEL, WITH 38 ksi MINIMUM YIELD POINT.

8. ANCHORS TO WALL SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED)
(A) TO EXISTING POURED CONCRETE:
~ 1/4" # TAPCON ANCHORS, AS MANUFACTURED BY I.T.W. BUILDEX OR ELCO TEXTRON.
~ 1/4% @ x 7/8° CALK-IN ANCHORS, AS MANUFACTURED BY POWERS FASTENING, INC.

NOTES:

A1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO CONCRETE SHALL BE 1 3/4°

A2) 1/4" 8 x 7/8° CALK~IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONCRETE.

NO EMBEDMENT INTO STUCCO SHALL 8E PERMITTED.
1/4" #—20 SCREWS USED SHALL 8E 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST.

AJ) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, DR PAVERS BE FOUND ON THE EXISTING
WALL OR FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEMIND SUCH
PANELS, ANCHORAGE SHALL BE 1 3/4" MINIMUM FOR ANCHORS MENTIONED IN A1), & 7/8" FOR
ANCHORS MENTIONED IN A.2).

(B) TO EXISTING CONCRETE BLOCK WALL:
~ 1/4" @ TAPCON ANCHORS, AS MANUFACTURED 8Y LT.W. BUILDEX OR ELCO TEXTRON.
- 1/4° 9 x 7/8° CALK~IN ANCHORS AS MANUFACTURED BY POWERS FASTENING, !NC.

NOTES:

8.1)' MINIMUM EMBEDMENT OF TAPCON ANCHORS, INTO. THE CONCRETE BLOCK UNIT SHALL BE 1 1/4"

B.2) 1/4° # x 7/8" CALK—IN ANCHORS SHMALL BE ENTERILY EMBEDDED INTO THE CONCRETE BLOCK UNI.
NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED.
1/4° #-20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUGCO EXIST, AND 1° MINIMUM
FOR WALLS WITH NO STUCCO.

B.3) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL,
ANCHORS SHALL BE LONG ENOUGH TO REACH THE WAIN STRUCTURE BEMIND SUCH PANELS.
ANCHORAGE SHALL BE 1 1/4" MINSMUM FOR ANCHORS MENTIONED IN B.1). & 7/8" FOR ANCHORS
MENTIONED IN B8.2).

(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR'S
MANUFACTURER.

7. PANELS MAY ALSO BE INSTALLED HORIZONTALLY FOLLOWING INSTALLATION DETAILS SHOWN ON SECTIONS 2, 2A, 3 & 8
(SHEET 2 & 3 OF 7).

8. EACH PANEL SHALL HAVE A LEGIBLE AND READILY VISIBLE MARKING INSTRUCTING OWNER OR TENANT TO SECURE PANELS
WITH APPLICABLE REINFORCEMENT DURING PERIODS OF HURRICANE WARNING.

9. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER
IS TO BE ATTACHED TO INSURE PROFER ANCHORAGE.

10. (A) THIS PRODUCT APPROVAL DOCUMENT (PAD.) PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE
INFORMATION FOR A SITE SPECIFIC PROJECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.AD,

(B) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND
INSTALLATION OF THIS FRODUCT BASED ON THIS PRODUCT APFROVAL PROVIDED
HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON THIS DOCUMENT.

(C) THIS PRODUCT APPROVAL DOCUMENT WILL BE CONSIDERED INVALID IF MODIFIED. PRODUCT REVISED
(D) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER g’?"}"l"""‘-‘ with the Florida

OR ARCHITECT WHICH WILL BECOME THE PROFESSIONAL OF RECORD (P.O.R.) FOR THE uiding Code

PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER USE OF THE PAD. Acceptance No 03-0206. 0
PROFESSIONAL OF RECORD, ACTING AS DELEGATED ENGINEER TO THE F.A.D. ENGINEER, Expiration Date 077 /6 G / o8¢,

SHALL SUBMIT TO THIS LATTER THE SITE SPECIFIC DRAWINGS FOR REVIEW.

(E) THIS PAD. SHALL BEAR THE DATE AND CORIGINAL SEAL AND SIGNATURE OF THE

PROFESSIONAL ENGINEER THAT PREPARED IT. o
Division

11. SHUTTER MANUFACTURER'S LABEL SHALL BE PLACED AT BOTTOM OF EACH PANEL.

LABEL SHALL READ AS FOLLOWS:

ALUMINUM WORLD, INC.

HIALEAH, FLORIDA

MIAMI—DADE COUNTY PRODUCT CONTROL APPROVED. F.B.C.(H.V.H.Z.)/MIAMI-DADE COUNTY




CONCRETE ANCHORS

4 Cont. Cant.
\ \ (SEE SCHEDULE)
QTN WEE N e t N
] (SEE SCHEDULE) — — (SEE SCHEDULE) ! ?g'gé’%ﬁ,mw —r resonn YCRETE £ 0. \x
s SCHEDULE)—\ \ 3 \ N - I N\ ; - I \ ;r J%. ] ’-]l] \
H [ —_ ! B ¥ — ! o X —_—— ™~ : | T
Np_ | R POURED 7——\%» : 38 POURED AN ! 3§ POURED E}—:“\ P Ly 33 N
Y CONCRETE CONCRETE } : ] \\\\\\\\r‘ N
== mere | o NN Ky g N ' ,
REQUIRED ; REQUIRED s \{i REQUIRED CREEAN ! ——@ REQUIRED s N\ 0o ! !
g ¥ N NN \ ¢ N i | g o
W | ! 1 1
| \\\\L\\ ' oy oy | |
SOOI ! T D ! , o & | !
1
| | : C | | g ;' . ! 9 ' ; | F__@ | ! e
| \ | § T e : | o 3 B 3
| lr : | § | | 3 | | P 5 | ' |
L A 1 H l A l e N !
v — 24 3 | | d v X z | l —O
| | ,' ; x E | ———— ] E | : 5 : g : A A 4
(SEE SCHEDULE) (SEE SCHEDULE) < T G (SEE SCHEDULE) ; Y A, AT a
| f @ IL——FEE—M—,;———I i § }—(SEE SCHEDULE}—| 5 : i g }'_HRT ’ P g { I V} | S
SEPARATION T I I g ] SEPARATION TO I " ]FOR Min. SEPARATIOM i | | SEPARATION TO l I s ' I
EXISTING 6LASS || I EXISTING GLASS. | i g TO EXISTING GLASS { g EXISTING GLASS | | g ’ | §
§ ! 3 | | . 3 | - (SEE SCHEDULE)—]
| I___@ | a | | Q€ | ! 4 R Min. SEPARATION | |
‘ : %‘a‘ : | i A j\\""—J‘— 5 : | I‘_“@ 3 : TD EXISTING GLASS ' ! g
3 ' v 3 | ! g
| | * ! | — ) ' { ! | | | ,@ ,
' ' 1/4" #-20 1 o
77 | § 77T 7777 G T777T 77 | i | } | ?
A / | /L7 {7 /LA Tl | AT
il [ POURED 1 RED : POURED y | Yo I | EVERY, STUD
Hi | CGNCRETE ] CONCRETE / 1 i) | N@Z”m | ] —— 0 12" 0.C.
7/ meoerr | /) L | 7 —O | fEr STyl | e | -2l -5 y
- ] REQUIRED —_— t REQUIRED —_— X —_—
—7*‘ r == | 8 == . == l Cont:
] _ | | /
e ) ey ] A e O e 2\ —
/1 POURED COM -
Cont. Cont. REQUIRED Tt ANCHORS
ety
SECTION @ ANCHOR SECTION ® ANCHOR SECTION @ ANCHOR A T,
l\/ T '\l /\, T Av /\/ MMMMLM-M Y
| (see scHEDULE) l | (see screpwe) | | i. | (seE scHepUE) | J\ = SECTION 3 — SECTION 4
FOR Min, ' % | _FOR Min. | FOR Min. | éﬂ
EPARATION TO SEPARATION TO 3 | separanon 1o
| EXISTING GLASS , 4 | BxsnTNG GLAsS Q | EXISTING GLASS I ¥
Q
: & : a : @
- d - ) - 4 £ 0. = oot pemNee PRODUCT REVISED
AN O s 7 —0: 7 —O 3 SHeET 3 0 ) Buiing o
-4
. | . 4 : | 4 Acceptance NoO3-0l06.0f
; ? I 7/8" x J/Jz'g / : 5 | 778" x 3/327d / :. ; | z/8* » 3/32°Q tmn l)ate o Im o0&
POURED CONCRETE / | B NS & Pouren concreTE | Ev’!ﬁy”s%},’ 2 rourep concreE | | ?’v’éﬁy”‘s’fuﬁ
| Le1zroc OR _CONCRETE / | Le 12oc. |, OR CONCRETE / le s oc M’amil)ada’ d s
/] /:‘/1 3§  FocK il /] ‘/T/' g oK WL A — 3 NOTE FOR COMBINATION OF SECTIONS: Division = T et Mmﬂ
i I l 3 : | T . | ] WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
/N [/ : T/ . — COMBINED IN ANY WAY TO SUIT ANY iNSTALLATION.
i} ' g ~ g
24 a4
/ \QD Cont. % @ cont. /! @ Cont. N F.B.C.(H.V.H.Z.)/MIAMI-DADE COUNTY
SECTION @ STUD SECTION @ STUD SECTION @ STUD 20 GAGE STORM PANEL-"STORM GUARD SCALE
12/11/02
A WALL MOUNTING INSTALLATION WALL MOUNTIN G /NSTA_[LA TION / IILIE cCO INE. \ ALUMINUM WORLD, INC. DATE
1767 W. 37th STREET UNIT 1B
— SECTION 1 — SECTION 2 — SECTION 2A (__ 15_|_’|‘T TEST'_:GS: ﬁyc\zggfmnm; mc‘:soupmm HIALEAH, FLORIDA 33012 02-57%
~€ ;@“‘a“\;—: EE } Phona : (305)87;:5 SS%OGF;:Q: (305)B71—1531 v ESCRIFION e —— prr——— oy DRAWING No
1 oD 01-280 h2/11/02 3 - p
WAYPZ RS i © o e L o e e E KL




Cont.

. CALK~IN
1/4% #-20 S.S. MACHINE
BOLT W/ NUT & WASHER éNs%H g‘gls-lEDULE

N N
Ny e e INGI
f::* ‘ . N3 OR CONCRETE _p—— g 4N
N
\

CONCRETE ANCHORS
(SEE SCHEDULE)

N

506"

T
8

&

&

3

A
///_

\\.\\L\\ o \\\\L\\

|
I

NOTE FOR COMBINATION OF SECTIONS:

(SEE SCHEDULE) ———=f
FOR Min. SEPARATION
TO EXISTING GLASS i

WALL /FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

g%

g

Cl)
Mox. PANEL LENGTH (SEE SCHEDULE)

S

ST

-}

<

<> <>

Max. PANEL LENGTH (SEE SCHEDULE)

7/8° x 3/32"

| gmolnd 777R77

b e e

SN

E. D. = EDGE DISTANCE

/|

/) —1 R (SEE SCHEDULE
_// d /] 1 EE 3 /| ON SHEET 5 OF 7)
POURED W / Cont. | ] | u / |
OF ConcReTE /1= 41——L =7 ' _/ /
BLOCK WALL J / . ] %r /
RERED L p=o r'[——-r - . QVW T
il 1/4" #-20 S.S. MACHINE —‘-ﬁ
/ S BOLT, W/’ NUT & WASHER cw.x—w
CONCRETE AncHors— /] /i
(SEE SCHEDULE) & S eoue)

Cont.

— SECTION 5 (DIRECT MOUNT) — SECTION 6

#8 POP JACKNUT
(Tvo.)
G I 12.000" § .
PROBUCT REVISED
as complying with the Florida

/® ! Buiding Code

m i ‘ Acceptance No.02-0206.04
L4 Expiration Date

L ! =

1/4° n-;a x 4'—/ Division
BOLTS W/ WING NUT
& WASHER O (AP O MIDSPAN

JOINTS & ENDS.

ﬂ,‘_._

|

|

i

i

3

|
B
8
g
&

LLLLLLS

PANEL RE/NFORCING DETA/L ch 5) F.B.C.(H.V.H.Z.) /MIAMI-DADE COUNTY
~ 20 GAGE STORM PANEL—"STORM GUARD” SCALE
12/11/02
: , / |IL|E C O iune. \ ALUMINUM WORLD, INC. DATE
% ‘ TILLIT TESTING & ENGINEERING COMPANY 176:@.“&52?5? 33012 02-575
» ' 73595 B smmr 11530 T ST 18 DRAWING No
/ " P2 EB-0006719 e i 2
yhae N e s e e s e SR




@ END CUT PANEL > ’/4.-—]

24 %1/8° 3105-H14
OR 8063-T8 ALLOY
Cont. Alum. ANGLE

2%2"%,085" T0 2"%5"%.055"
Cont. Alum. ANGLE OR .080"
3105~-H154 SHEET METAL
Alum. BENT PLATE

POURED CONCRETE
OR
CONCRETE BLOCK WALL

REQUIRED \

SONNUNNNANNN

LLLLLLL L

1/4" 8 BOLT
9 12° 0.C.
W/JACKNUT

CASE B (Plan)

1.000"

/

ALTERNATE LEG LOCATION

CASE C (Plan)

END CLOSURES DETAILS

4%4"%.093° J105~-H14 OR
6068376 ALLOY Cont. Alurm.
ANGLE OR 18 GAGE Galv.
STEEL ANGLE

/'*7//% o~

MAXIMUM DESIGN PRESSURE RATING "W” (p.s.f.) AND

CORRESPONDING MAXIMUM PANEL LENGTH "L” SCHEDULE

MAXIMUM DESIGN LOAD | Mox. PANEL LENGTH | MINIMUM SEPARATION A’.;’Z.LC'%;- Im REIN;OAgCEEI:MmT
W (ps.t) L (1) TO GLASS YSEE SHEET 2 & 3 OF 7) CONDITION
+60.0, ~76.0 g-10" 3 1/8" 1,2 3 +4&5 UNBOLTED
+60.0, -72.0 9'-0" 3° 5 UNSOLTED
+60.0, -76.0 810" 2 3/4° 6 UNBOLTED

+42.7, -53.3 .>a‘-1a' 10 12-0" 3° 24 BOLTED W/ BAR *

* BOLTED W/ 1/4" #-20 S.5. M.S. & WINGNUT AT OVERLAP & MIDLENGTH OF PANEL.

PRODUCT REVISED

as complying with the Florids
Buiding Code

Aceeptance No ©3-0206. ¢ é
Expiration Date 07 /09 /2 00 ¢

Division

F.B.C.(H.V.H.Z.)/MIAMI-DADE COUNTY

/TiLTEC O me. \

TILLIT TESTING & ENGINEERING COMPANY
.6595 N.W. 36th. St, Ste. 217, VIRGINIA GARDENS, fl. 33186
Phone : (305)871-1530 . Fox : (305)871-1531
EB-0006719
WALTER A, TILLIT Jr., P. E.
FL_QRIDA Lic. 44167

20 GAGE STORM PANEL-"STORM GUARD” SCALE
12/11/02
ALUMINUM WORLD, INC. DATE

1767 W. 37th STREET UNIT 18

HIALEAH, FLORIDA 33012 02-575
REV. NO DESCRIPTION OATE | REY. No DCSCRIPTION pre DRAWING No
1 op 01~200 12/11 /02 3 - - SHEET 4 OF 7

2 -

4 - -




MAXIMUM DESIGN PRESSURE RATING "W’ (p.s.f.) AND CORRESPONDING MAXIMUM ANCHOR

SPACING SCHEDULE FOR INSTALLATIONS INTO CONCRETE AND C.B.S. STRUCTURES *

E

D.

= EDGE DISTANCE

MAXIMUM MAXIMUM ANCHORS SPACING FOR E. D. = J 1/2° = ;;Zl#% LO MAXIMUM PANEL
DE;'G(‘; :f;" TAPCONS CALK-IN ANY COMBINATION LENGTH L” (1t.)
TO CONCRETE TO MASONRY TO CONCRETE TO MASONRY OF THEM
+60,-71.5 N/A N/A 12~ 12 6 (TOP/BOTTOM) 8'-2" OR LESS
+60,~72.0 N/A N/A 6" 6" 6 (TOP/BOTTOM) 9'-0" OR LESS
6" N/A 6" N/A 1 (TOP)
8" 6" 6" 6" 1 (BOTTOM)
6 6" 6" 6" 2 (TOP/BOTTOM)
N/A N/A 6" 6" J (TOP)
6" 6" 6" 6" 3 (BOTTOM)
+60.0, —76.0 8'-10" OR LESS
10 1/2° N/A 11" N/A 4 (TOP)
10" N/A 10 1/2% N/A 4 (BOTTOM)
6" N/A 6" N/A 5 (ToP)
6" 6" 6" 6" 5 (BOTTOM)
N/A N/A 6" 6" 6 (TOP/BOTTOM)
+42.7, -53.3 6" 6" 6" 6" 2A (TOP/BOTTOM)| >&8-10" 1O 12°-0"

X SEE SHEET 6 & 7 OF 7 FOR ANCHORS TYPE & SPACING FOR
INSTALLATIONS INTO WOOD FRAME BUILDINGS.

MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1/2" EDGE DISTANCE.
FOR E. D. LESS THAN 3 1/2%, REDUCE ANCHOR SPACING BY
MULTIPLYING SPACINGS SHOWN ON SCHEDULE BY THE FOLLOWING
FACTORS. (NOTE : Min. E. D. FOR CALK—IN ANCHORS IS 2 1/2%).
THIS OPERATION SHALL ONLY BE PERFORMED WHEN REGUIRED
SPACING RESULTS INTO A MINIMUM OF 3~

XK

FACTOR
ACTUAL E. D.
TAPCON CALK=IN
3" .86 .75
2 1/2* 71 .50
2" .50 -

PRODUCT REVISED
as complying with the Florida
Buiding Code

Acceptance No 03-0204-0 6
Expiration Date, o6
wllelead Mol
Miami DadgPreduct Contro}

Division

F.B.C.(H.V.H.Z.)/MIAMI-DADE COUNTY

/TitlEcom:. \

Phona :

(305)871~1531

TILLIT TESTING & ENGINEERING COMPANY
8595 N.W. 36th, St., Ste. 217, VIRGINIA GARDENS, F1
(305)871—~1530 . Fox :
EB--0006719
WALTER A. TILUT Jr.,, P. E.
FLORIDA Uic,_d+fs7

33168

20 GAGE STORM PANEL-"STORM GUARD” SCALE
12/11/02
ALUMINUM WORLD, INC. DATE
767 W. 37th STREET UNIT 18
1 ZIAJ\‘.VEAJ?LHFIL(?RIDA :sgou 02-575
REV. NO DESCRIFTION DATE | REV. No DESCRIFTION TATE DRAWING No
- e ; - — SHEET 5 OF 7

et e



EQ £

SO ANNNNINTN

]

WO0D HEADER
REQUIRED
(SEE SCHEDULE)
FGR Min. SEPARATION
TO EXISTING GLASS

RNATIV.

1/4°#x3" LONG [AG SCREWS
@ 8°0C W 1 27/32" Min.
PENETRATION TQ EXISTING

/1

Cont.,

NN

7/8"0x3/32° WING
Nur o Every
L—"" st 0 12° o.c.

§

— .250"

NOANANNN

iy

Cont.

1/4°0x3" LAG SCREWS O

2° x 4° PIATE 8% 0.C. W/ 1 27/32"° Min.
REQUIRED PENETRATION @ MIDWIDTH
\ = OF PLATE,

NN

ALTERNATIVE 2

NOTE FOR_COMBINATION OF SECTIONS:

WALL MOUNTING SECTIONS CAN BE COMBINED
IN ANY WAY TQ SUIT ANY INSTALLATION.

. INSTALLATIONS ARE ONLY VALID FOR DESKGN WIND LOADS UP TO +60.0,
—-76.0 p.s.f. AND PANEL’S LENGTHS UP TO 8'-10%

. NEW 2° x 6% P. T. TO BE SOUTHERN PINE No. 2, SURFACED DRY WITH
19 X M. M. C. W/ SPECIFIC DENSITY OF 0.55,

. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TQ BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

g

1/4" 8 x 3" LONG LAG
SCREWS @ 6° 0. C. W !
27/32" Min. PENETRATION TO
EXISTING WOOD HEADER.

Cont.

NN NNNXNN
&
I

1/4"8 MACHINE BOLT W/
[-Nur & WASHER O 6° O.C.
t— EQ

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

AN

NEW R.T. 2°x4"(Min.) Cont. W/
1/4°9x5" LONG LAG SCREWS
0 67 0.C W/ 1 27/32° Min.
PENETRATION TO EXISTING

WOOO HEADER.

Lo
Max.

L
d
[:I;amw.-] §§ ;
I 1,
. ' I T 4
'f Cont. j 0
d .
]
: d N
g WOOD HEADER REQUIRED . ) L/ LI
—- L 5 T
- — (SEE SCHEDULE) v 4 /D%] e
FOR Min. SEPARATION TO EXISTING
1%1 1/2" LAG g ggggﬁgnwm
EWS O 6 O.C.
=T : —O € o . o
% | s —
% I g o Y3 g
¢ =77 iy B O
¢ /] o1z ac j .§
- 1748 LAG SCREW "
7% @ 24" 0. C. : | L/
/ I / Woop STUD
% (4) e | s
¢ g
e
4
e
/

F14x3/4" 5.S.
SMS. 0 6° 0C.

B

LAG SCREWS

STUD.

Po

%/ .." .
EE 1.
1 .
£Q —H )
& —TIT 1
::’ _J

Woop STUD
2 24" a.C.
REQUIRED

AN

ALTERNATIVE 4

1x4"x /8" (MINIMUM,
L

6063~15 Alum. IUBE) (Cont.)

(2)1/4"x4" [AG SCREWS @
EACH STUD (MIDWIDTH OF STUD)
AND W/ 2" Min. PENETRATION

INTO EXISTING STUD.

NEW P.T. 2%8" Cont. W/(2)1/4"#x5"
O EACH STUD (MIDWIDTH
OF STUD, 2* Min. NOMINAL) AND W/

2" Min. PENETRATION INTO EXISTING

Cont.

/ 7/8"Wx3/32°

WING NUT @ EVERY

STUD @ 127 O.C.

H

b—
b—

1=k
A

Cont.

TERNATIV

ALL MOUNTING INST.

| ~————7/8"8x3/32" WING NUT O
EVERY STUD @ 12” O.C.
STAGGERED TO f#14 SM.S.

@Aﬂav

NEW P.T. 2°%8" Cont. W/ (2)1/4"8x5"
LAG SCREWS © EACH STUD (MIDWIDTH OF
STUD, 2 Min. NOMINAL) AND W/

2" Min. PENETRATION INTO EXISTING STUD.

TION — SECTIONS A

ST 70
,1/44 LAG SCREWS

ARNN

.

HA)

1%2°x1/8" (Min.) Alum. TUBE
W/ 1/4°8x4" LONG LAG
SCREWS O 8° 0.C. W 1 27/32°
Min, PENETRATION TO EXISTING
WOOD HEADER.

33
i

SANNANNNNNY
&

—

J
—h

STUD
@ 24" 0.C.
QUIRED

SOOOONANNNNXXY

A
T

3
™
- wooo Heaoer
REQUIRED

— (SEE SCHEDULE) FOR Min. —1
SEPARATION TO EXISTING
GLASS

f

—®

F14x3/4" 5.5,
SMS. 0 8° Oc.

TERNATI

] 7/8°8x3/32"° WING
} NUT O EVERY STUD
f : @ 12° ac
AGGERED TO fF14
1]Q | o //sr S.M.S. /
-ﬁ%%% 3
g —
RN E
B A ca—
" ’ i Cont.
< \ 1%4%1/8" (Min.)
3 8083~T5 Alum. TUBE (Cont.)

(2)1/4°8x4" LAG SCREWS

O EACH STUD (MIDWIDTH OF STUD,
2” Min. NOMINAL) AND W/ 2" Min.
PENETRATION iNTO EXISTING STUD.

/TiLIEC O .. \

i

TILLIT TESTING & ENGINEERING COMPANY
5 N.W, 38th. St, Ste. 217, VIRGINWA GARDENS, F1. 33168
Phone : (305)871~1530 . Fax : (305)871-1531

EB-0006719
WALTER A, TILLIT Jr., P. E.
FLORIDA Lic. 44167

PRODUCT REVISED
as complying with the Florida
Buiding Code
Acceptance No03-0206. 04
xpirstion Date oot
By
Miami Da
Division
F.B.C.(H.V.H.Z.)/MIAMI-DADE COUNTY
20 GAGE STORM PANEL-"STORM GUARD” SCALE
12/11/02
ALUMINUM WORLD, INC. DATE
1767 W. 37th STREET UNIT 18
HIALEAH, FLORIDA 33012 02-575
REY. NO DESCRIFTION DATE REV. MNe DESCMPTION DATE DRAWING Na
: R s S - — SHeeT 6 aF 7




LAG SCi
W/ 1 27/32° Min. PENETRATION
TO EXISTING WOOD HEADER.

-

1/478x3" LONG
REWS @ 6~ 0.C.

—(7) o

1/478 MACHINE BOLT W/
NUT & WASHER @ 6 O.C.

- £ (#] .
:H

%

/‘

%

g 8

/]

/] ]

/ :

; '«

/D:a 2P W000 HEADER
~ REQUIRED

o (SEE SCHEDULE) et
FOR Min. SEPARATION
TO EXSSTING GLASS

3 Cont.

—®

P W
.

1/4%8x1 1/2° LAC
SCREWS ©@ 8" 0.C.

7(5":3/32'
NUT @ EVERY

| sTup @ 12" o.C.

-~
Max. PANEL LENGTH (TYPICAL SEE NOTES )]

Ly
/@ Cont.

SO NNNINNNSNE

§

Z 1% Mln.—l

1/479~20 5.5. BOLTS O
* 0.C. W/ NUT & WASHER

NEW P.T. 2%8” Cont. W/(2)1/4"x5"
LAG SCREWS @ EACH STUD (MIOWIDTH
OF STUD, 2° Min. NOWINAL) AND W/ 2*
Min. PENETRATION INTO EXISTING STUD.

#14x3/4" 5.5.
S.M.S. © 6° O.C

Y ___@
/—m@m’é’ﬁm

STUD @ 127 0.C.

Cont.

/1
4 " #-20 S.5. BOLTS ©
L/ c W/NUT & WASHER
; Cont.
L A,I:r:r'%gf ((g,(’J’-d‘)J—H ALLOY)
(2)1/4"8x4" LAG SCREWS © EACH
STUD (MIOWIOTH OF STUD) AND W/ 2°
Min. PENETRATION INTO EX(STING STUD.
LZEENAZ/Vg 8
WALL MOUNT. INSTALIAT. (OFFSET,
SECTION A
NOTES:

1. INSTALLATIONS ARE ONLY VALID FOR DESIGN WIND LOADS up to +60.0,
—76.0 p.s.f. AND PANEL'S LENGTHS UP TO &'-10"

2. NEW 2" x 6" P. T.

TO BE SOUTHERN PINE No. 2, SURFACED DRY WITH

19 X M. M. C. W/ SPECIFIC DENSITY OF 0.55.

3. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL

INSTALLATION DETAILS ON

WOOD TRUSSES OR RAFTER
@ 24° O0.C. REQUIRED

EXISTING WOOD BUILDINGS

I

-

A

WOOD TRUSSES OR RAFTER
O 24" 0.C. REQUIRED

3

=~y
Q3 2°x 8 P. T. Cont. VoLV 4/'/////
WOGD PLATE W, 0
| l i (a0 gp071 UL Ioace1/ae din
LAG SCREWS TO EACH =" e T5) Aum. TUSE W/
RAFTER OR TRUSS. . (2)5/16 Wx4” LAG
. . A LOCATE SCREW AT MIDWIDTH -500 SCREWS TO EACM. JOIST.
1/4%8x1 1/2° @ of pusvG wooD mEWBER fia3a. — LOCATE SCREW AT
ef:vd P el - W i S ohme
- - ), lin.
o 4" oc. W/ 2° Win. PENETRATION. wooo e (2
4 2* Min. PENETRATION.
= ot Cont. j: A Cont.
| (SEE SCHEDULE)— ] = - —(SEE SCHEDULE)—] ]
FOR Min, SEPARATION e e oL~
T0 EXISTING GLASS /’@ O Min. SEPARATIO!
' ke o
%1 i . e ey, y
g /——— o o 12 o.c.
. 2" x 6" WOOD DECK L
ooz . 2§ § Feoure
NG NUT @ EVERY e 37 2° x 6 WOOD DECK
sTuo o 12* o.c. —" ! / oD

\)

1/4 le 1/2 LAG
SCREW © a.c.

£Q . EQ

FLOOR/ WALL/ CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

Q—M

/ﬁ///q& O

ALTERNATIVE 1

— SECTION B

& 1 142 1/2" LAG
3 = SCREW 0 6° O.C.

CEILING & FLOOR MOUNTING INSTALLATION

PRODUCT REVISED
as complying with the Florida
Buiding Code

Acceptance No03-0206.0 4
Expiration Date 07 /09/7 5 ¢, &

By, d
Miami DadéProduet Contro}

Division

F.B.C.(H.V.H.Z.)/MIAMI-DADE COUNTY

% ° eé\ssl'%wﬁ; LoNG [/ A" L0NG G
) . 8" 0.C. W,
L/ : 1/479-20x2" S. /1 : 1 27, .12" urn TION
A . Lhow . 52 % . STING WOOD HEADER
/ Y | EXsTvG woop GieABer. .
L/ ./ “ / S o
A : L - 501.75 W ez
5 T 12°
/] R d s
A\ // AV cont
L/ | /1 11 - )
I 1k - :: v, I ] - ’tr...:*_.
WOOD HEADER WOOD HEADER \'@
REQUIRED REQUIRED
. A —A A,
—& _______,» —h ‘V
J O
0
% . = N - .
~ [T T 1/4°%-20x1
A 1 8 \@ by SIS <L BOLTS W/ 7/8%3/32"
L7 g - e o
, .C.
“ N 8 W
¢ woon stup I[N @ wowom oF paTe g Wwooo' sup I[N \@ Cont.
9 24 OC. N 47 1. 0. x 5/8" LONG BrRass V| %24 O
/| FEQUIRED USHING‘ A e 202" 55 |/ REQURED Wil . @ MIDWOTH OF PLATE
¥ SCREW ® 8° O.C. % : 1/4"9x3" LONG LAG
EXISTING. WOOD BLATE. i SCREWS @ 6" 0.C. W/
1 f % . - 1 1/2* Min. PENETRATION
- 4 T0 EXSTING WOOD PLATE.
NOTE_FOR COMBINATION OF SECTIONS

/ TiLlEc o me \

THAIT TESTING & ENGINEERING COMPANY

8595 N.W. J6th. St, st- 217, VIRGINA GAR 33168
Phone : (305)871-1530 . Fax : (305)571 1531
EB 0006719

WALTER A. TILLIT Jr., P. E.
FLORIDA Lic, 44167

20 GAGE STORM PANEL-"STORM GUARD” SCALE
12/11/02
ALUMINUM WORLD, INC. DATE
VT LEAY, FLORIDA 33012 02-575
REV. HO DESCRIPTION OATE | REV. Mo DESCRIPTION BATE DRAWING No
; e e - —— SHEET 7 OF 7




